CHANGE ORDER

CITY OF KYLE

CHANGE ORDER NO. 1	DATE: NO\	/EMBER 09,2017	PROJECT NO. K 16-17
PROJECT: 2017 MISCELLANEOUS STREETS MICROSURFACING AND REPAIR OWNER: CITY OF KYLE			
ORIGINAL CONTRACT AMAOUNT:		\$ 468,755.27	
NET EFFCECT OF THIS CHANGE ORDER:		\$ 32,263.75	
REVISED CONTRACT BY THIS CHANGE ORDER:		\$ 501,019.02	
DESCRIPTION OF WORK:	See attached descr	ription	
JUSTIFICATION:	Change requested by Owner		
EFFECT OF CHANGE: The amount of thirty-two thousands two hundred sixty three 75/100 dollars (\$32,263.75) shall be added to the previous contract price.			
AGREEMENT: By the signatures below the City of Kyle here by agree and append this change order to the original contract between City of Kyle and Viking Construction, Inc dated June 06,2017.			
By:(City of Kyle)	Da	ite:	
By: Dan Walsh	Da	nte: 11-8-17	,

Attachments: Google Earth image showing additional areas.

(Viking Construction, Inc)

DETAIL CHANGE ORDER NO. 1

2017 MISCELLANEOUS STREETS MICROSURFACING AND REPAIR PROJECT

PROJECT NUMBER K 16-17.4

CITY OF KYLE

ITEM NO. 1- Additional Micro surface and Pavement marking

Viking Construction, Inc is requested add following street sections on their existing contract.

- Bluestem Street (between Goforth Road and Goldenrod Street)
- Park road connecting W Center Street to Gregg Road

The additional work includes following items,

- Micro surfacing 7,725 SY @ \$ 3.35/ SY = \$ 25,878.75
- 4" Solid white 2,600 LF @ \$ 0.58/LF = \$ 1,508.00
- 4" Solid white (parking lot) 1,540 LF @ \$1.05 = \$ 1,617.00
- White Symbols with blue 10 @ \$ 305.00 = \$ 3,050.00
- Arrows 2@ \$ 105.00 = \$ 210.00

Estimated Total Change Order Price = \$ 32,263.75



